v.1.1



	Use the Pythagorean Theorem to find the length of the missing side of the right triangles:
	
	Determine if the following measurements of sides will form a right triangle:

	1. a = 20, b = 21, c = ?
	
	1. a = 24, b = 18, c = 30

	2. The legs of a triangle measure 15 and 20 feet. What is the length of the hypotenuse?
	
	2. a = 4, b = 6, c = 10

	
What is the length of the missing side of this right triangle?
	
	3. A triangle’s sides measure 25, 15, and 20 feet. Is this a right triangle?



	Find the length of the missing side of the following right triangles:

	1. a = 12, b = 16, c = ?


	2. a = 15, b = ?, c = 25

	3. The legs of a right triangle measure 10 and 24 inches. What is the length of the hypotenuse?


	4. The hypotenuse of a right triangle measures 15 inches, and one of the legs measures 12 inches. What is the length of the other leg?

	5. a = ? , b = 8, c = 10
	6. a = 16, b = 30, c = ?

	7. 

What is the length of the missing side of this right triangle?
	8. 


What is the length of the missing side of this right triangle?


Match the leg measurements on the left with the hypotenuse measurement at the right to 
form a right triangle.
	9. a = 9, b = 12
10. a = 6, b = 8
11. a = 12, b = 5
12. a = 8, b = 15

	a. c = 10
b. c = 13
c. c = 15
d. c = 17


	Solve.

	13. An electrical pole is secured to the ground using wire. The wire is attached to the pole 12 feet above the ground. The hook in the ground is 12 feet from the electrical pole. How much wire is needed?

	14. Television screens are measured using the diagonal length of the screen. If a television is advertised as being 30 inches, and the width of the television is 24 inches, what is its height?
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Guided Practice

1. 202 + 212 = c2, c2 = 841, c = 29

2. 152 + 202 = c2, c2 = 625, c = 25

3. 402 + b2 = 502, 502 – 402 = 900 = b2, b = 30

Review Practice

1. 242 + 182 = 302, 576 + 324 = 900; this is a right triangle.
2. 42 + 62 = 102, 16 + 36 = 52 ≠ 100; this is not a right triangle.
3. 252 - 152 = 202, 625 - 225 = 400; this is a right triangle.
Independent Practice

1. (122 + 162)0.5 = c, c = 20

2. 152 + b2 = 252, 252 – 152 = b2, b2 = 400, b = 20
3. (102 + 242)0.5 = c, c = 26
4. 152 – 122 = b2,  81 = b2, b = 9
5. a2 + 82 = 102, 102 – 82 = a2, (100 - 64)0.5 = a, a = 6
6. 162 + 302 = c2, 1156 =c2, c = 34
7. a2 + 122 = 132, 132 – 122 = a2, a2 = 25, a = 5
8. 1002 – 802 = x2, x2 = 3600, x = 60

9. c

10. a

11. b

12. d

13. 122 + 122 = c2, 144 + 144 = 288, c2 = 288, c = 16.97 ft
14. 302 – 242 = h2, 324 = h2, h = 18 inches
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